Ratio

oo a )(cm)

—
P
o
=
-
o
S
-
©
10*1
) I I S A I T
=
©
= |
J.luuuuuuu uluuuinll
1 |T|||'r'r]TI‘|‘f+ nufnu-rnnl
0.95

o(® ¢ (rad)

Xy

H
S

1005

L

0.95

a(d cot(0))

H
S

1072

=3 -2 -1 0 1 2 3

TP n (PCA to beamline)

23 2 —'16 '1 2 3

TP n (PCA to beamline)

§e]
N N N N N | }E
|llllll:|luuuu:muuul:llulmll:mumu:lllllll e
||TTI”|:TTTIITTTI]:TTITIITIII.ITT[ITTTII.ITIIITIITT.”T”T||
N N N N N 0.95 N N N N N
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM_fitted4_1000evt
=~ 1=
§ F
;N
o
o

|“|511111||u_liu.l|1|1mfuuuuuiuuullllfl||

i I“HIIITIIHI.IIIIIIITI1'.II1IIITIII.IITIIIIIIF|||

23 2 -1 0 T 2 3
TP n (PCA to beamline)



	Contents
	Page 1


